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 16.  TECHNOLOGY
 CORNER

 

Most newer TI-89 calculators allow you to find critical values t* using the inverse t command. As with the 
calculator’s inverse Normal command, you have to enter the area to the left of the desired critical value. Let’s use the 
inverse t command to find the critical values in parts (a) and (b) of the example.

INVERSE t ON THE CALCULATOR
TI-Nspire instructions in Appendix B; HP Prime instructions on the book’s Web site.

ALTERNATE EXAMPLE

Finding t*

PROBLEM: What critical value t* should 
be used in constructing a confidence 
interval in the following settings?
(a) A 90% confidence interval based on an 
SRS of size 10
(b) A 99% confidence interval based on a 
random sample of 95 observations

SOLUTION: 
(a) Using the row for df = 10 − 1 = 9 
and the column that is above the 90% 
confidence level, the desired critical value 
is t* = 1.833.
(b) With n = 95, df = 95 − 1 = 94. 
Because there is no row for df = 94,  
we use the more conservative df = 80.  
Using the column for 99% confidence,
t* = 2.639.

Teaching Tip

If  you did the Calculator BINGO! Activity, 
ask your students to look up the correct 
critical value for 99% confidence and  
df  = 4 − 1 = 3. It is t* = 5.841, more 
than double the z* critical value of z* = 
2.576. The critical value needs to be this 
large to make 99% of  the confidence 
intervals capture the true mean.   

Teaching Tip

As mentioned in the margin note, the 
last line of  critical values in Table B 
corresponds to the standard Normal 
distribution. On the AP® exam, the t table 
provided to students also provides the 
critical values for df = ∞ in the last line.  



514 Chapter 8 Estimating with Confidence

TI-89 
• In the Statistics/List Editor, press F5 , choose In-

verse and Inverse t.... 

• For part (a), enter Area: .025 and Deg of Freedom,
df: 11, and then press ENTER . 

• For part (b), use Area:.05 and df: 47.

Note that the t critical values are t* = 2.201 and t* = 1.678, respectively.

TECHNOLOGY TIP

If  your students have a TI-83 or older 
TI-84, they may not have the invT 
command. Installing an upgraded operating 
system (OS) will usually do the trick. Visit 
education.ti.com or copy the newer OS 
directly from another calculator using the 
Link function. 

✓ ANSWERS TO CYU

1.  df = 21, t* = 2.189. Using technology: 
invT(area:0.02,df = 21) = −2.189,
so t* = 2.189.  

2.  df = 70, t* = 2.660 (using df = 60).  
Using technology: invT(area:0.005,
df = 70) = −2.648, so t* = 2.648.  




